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f(x) cos(wX)

ALY I F(a)l)zj f (X) cos(m,X)dx

| F(w,) =J f (X)cos(w,X)dx

] F(w,) = j f (X) cos(w,x)dX



cos(a)lxb\“x)
f(X) cos( @, X)

F(w,)= j f (Xx) cos(, x)dx
f(X)  cos(wX) F(w,)

f(X) cos(wX) cos(@;X)
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COS

F(w) = j f (X) cos(awx)dx

Flw) o

f(X) + f(-X)
DCT jpeg

Discrete Cosine Transform
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Mathematica

« Mathematica f(X)

~1<x<1 P =1
0 P, (X) =sin X
1 f(X) P, (X)=cosX
P, (X) =sin 2X

P.,(X) =cos2X

f(X)=+

P.,(X) =simn 3X
- X P,(X)=cos3X

-1 O |
f(X) ~ kP, (X)+ Kk, P, )+ K P (X) + K, P (X) + K, Py (X) + o kP (X) + .o

k= [* f (0P = [ R(x)dx



« k (1=0,sl1,cl,s2,c2,s3,c3,s4,c4,s5,cH)

Mathematica

k= [* (0P = [ R(x)dx

F(X) = KBy (X) + Ky Py (X) + K Py () +.... KssPys (X) + K5 Pes (X)

f(X) = k,Py(X)+ Z ksj P (X)+ Z kcj P, (X)
i1 i1

. k
« k.(]J=1,2,3
Mathematica

f(X)

—1<x<1
f(x):{o

-1

O

Po(x) — A

P, (X) =sin X
P.,(X) = cos X
P., (X) =sin 2X
P.,(X) =cos2X
P, (X) =sin 3X
P.,(X) =cos3X
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T (D)

= (a)) 1 . sin(ax)
A Sinc ax
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= (C()) . sin(ax)
Sinc ax
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1 E Sinc ax
PN B N — azo
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. ‘ Sinc ax
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) E Sinc ax
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Plot[{Cos[X]}, {X, -2Pi, 2Pi}, PlotRange » All]
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Plot[T *Cos[X] + *Sin[x], {x, -2Pi, 2Pi}, PlotRange - All |
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1 1
Plot|— *Cos[x] + — *Sin[x], {X, -2Pi, 2Pi}, PlotRange - All]
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Plot[—*Oos[x] +—*S|n[x] {x, -2Pi, 2Pi}, PlotRange - All |

N




Plot[{SIn[X]}, {X, -2P1, 2P1}, PlotRange -» All]
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Plot[{Cos[X]}, {X, -2Pi, 2Pi}, PlotRange » All]

cos(X + @) = acos(X) + bsin(X) o |
Va?+h? =1
= -1 a

-1




Plot[g*Cos[x] +%*Sin[x], {x, -2Pi, 2Pi}, PlotRange - All |

cos(X + &) = acos(X)+bsin(X) o

JaZ+b? =1

0 = tanl(g\ -1 a
a) \J |
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Plot|— *Cos[x] + — *Sin[x], {X, -2Pi, 2Pi}, PlotRange - All]

V2 V2

cos(X+ &) =acos(x)+ bsin(X) o

JaZ+b? =1 /
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Plcrt[% *CoS [X] +£ *Sin[x], {x, -2Pi, 2Pi}, PlotRange »>All |

2
cos(X+ 8) =acos(X) + bsin(x) D4 |
\/8.2 + b2 =1 /
0 = tanl(g\ -1 a
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Plot[{SIn[X]}, {X, -2P1, 2P1}, PlotRange -» All]

cos(X + &) = acos(X)+bsin(X) b |

JaZ+b? =1

0 = tanl(g\ -1 a
a) \J |
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Plot[{Cos[X]}, {X, -2Pi, 2Pi}, PlotRange » All]

cos(X + @) = acos(X) + bsin(X) o |
Va?+h? =1
= -1 a
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Plot[g*Cos[x] +%*Sin[x], {x, -2Pi, 2Pi}, PlotRange - All |

cos(X+ &) =acos(x)+ bsin(X) o

Ja>+b* =1 /

0 =tan™ (E\ -1 g\ a
a) \J 1




Plot[% *Cos[X] + % *SIN[X], {X, -2P1, 2P1}, PIotRange—>AII]
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Plcrt[% *CoS [X] +£ *Sin[x], {x, -2Pi, 2Pi}, PlotRange »>All |
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Plot[{SIn[X]}, {X, -2P1, 2P1}, PlotRange -» All]

cos(X + &) = acos(X)+bsin(X) b |

Jai+b* =1

0 =tan™ (E\ -1 0 a
a) \J 1 ]
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Mathematica

« Mathematica f(X)

~1<x<1 P =1
0 P, (X) =sin X
1 f(X) P, (X)=cosX
P, (X) =sin 2X

P.,(X) =cos2X

f(X)=+

P.,(X) =simn 3X
- X P,(X)=cos3X

-1 O |
f(X) ~ kP, (X)+ Kk, P, )+ K P (X) + K, P (X) + K, Py (X) + o kP (X) + .o

k= [* f (0P = [ R(x)dx



« k (1=0,sl1,cl,s2,c2,s3,c3,s4,c4,s5,cH)

Mathematica

k= [* (0P = [ R(x)dx

F(X) = KBy (X) + Ky Py (X) + K Py () +.... KssPys (X) + K5 Pes (X)

. ki
¢ k(J:1,23141 """" ) J
Mathematica
() = Koy () + DKy Py () + DKy Py (X)
j=1 j=1
f(x) R
I N —
-1 O 1

Po(x) — A

P, (X) =sin X
P.,(X) = cos X
P., (X) =sin 2X
P.,(X) =cos2X
P, (X) =sin 3X
P.,(X) =cos3X



Mathematica

f(X)

s T(X)




Mathematica
« k (1=0,5sl,cl,s2,c2,s3,c3,s4,c4,s5,cH)
k= [ f (0P dx=[ P(x)dx

F(X) = KBy (X) + Ky Py (X) + K Py () +.... KssPys (X) + K5 Pes (X)

Po(x) — A

Mathematica n > (%) .
n n X) = sin X
f(x)=k,P. )+ k. P.(x)+ > k.P.(x !
( ) 0 O( ) JL:; S) Sj( ) JL:; Cj Cj( ) Pcl(X):COSX
() P, (X) =sin 2X
t (x) ) {X “1<x<1 P.,(X) =cos2X
X) =
P.,(X) =sin3X

X P.,(X) = cos3x




Mathematica
« k (1=0,sl1,cl,s2,c2,s3,c3,s4,c4,s5,cH)

k= [* (0P = [ R(x)dx

f (X) ~ k0 PO(X) + ksl SI(X) + kcl CI(X) +

.« k
¢« ky(i=1,2,3,4,.... )
Mathematica
f(X) = kP (X)+ D kP, () + D kP,
j=1 j=I1
f(X)

1] f(X) (
f(x)=-:

-1

O 1 X

X+ 1
I —X

""" 85 SS(X)+kCS CS(X)

—-1<x<0
0<x<1

Po(x) — A

P, (X) =sin X
P.,(X) = cos X
P., (X) =sin 2X
P.,(X) =cos2X
P, (X) =sin 3X
P.,(X) =cos3X



